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. Calculus IT Paper M.M.75
ey 1. fog R B o 1= e’ o, 7 T, AT @1 ¥ T ST H T

gjﬁﬁ 2 | Prove that for the curve r =ae’ ", the tangent is inclined at a constant
angle with the radius vector.

A Bt 2 b= f(r) 1 5 & T aTf e ol o e MY

P

Show that the cord of curvature$rough the pole for the curve P=A1(r)is 2f(r)/f (1).
3. G °TIeh I GLATA I |
Deﬁne Total Differential Coe$ﬁc1ent
- W f(x y) & = A
' Gl erla for extreme values of f(x, %3
Q & GHIX ST=TEag 1 ,
Deﬁne Asym totc;%parallel to the axes.
6. ATl gREdH ORI BT o 38 ford TR i%ﬂﬁrq |
Define point of 1%ﬂex10n and also write the test for it.
7.qax + y' = |
Find the perimeter of the c1rc]es +y'=a’,
8. 5d : Evaluate:: [K( 15/2).
9. o T&-qHTeT &l A |
Chan}ge the order of integration of the following double integral :

I I f(x,y) dx dy.
O %ﬁﬂaﬂ'ﬂ SRIEN] feRaw | Write Dlrlchlet's Integral
- -1 1. (37) A% 23 1+ cos 0, A AT A & WRfdfa e

2a_ |+ cos 0, then with usual notations, show that : ds _ 2a

If 'F'" ) dW¥ Sin3\P
(@ =) e <o P 2 bt b e el g - £

y
d¥

v L dx zggqﬁaﬂaaaf?mmm%n
dll!

prove that the coordinates of thﬁ centre 0(5‘ curvature at any
oint (x, y) can be expressed inthe form x - -i_‘{’andy o

3551'{'11- 2. (3 )aﬁ?lf z =X tan’ x.)—_yztan' (T)WW : Prove that
C gz XY |

~ - 2

gijagt B " arerat /OR
(a) ﬁ":ﬁ‘? o7 57d @IoT | Show that minimum value of
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B. Sc. / B. A. (Part-I) MATHEMATICS / 9

3 3
= ‘ty+(x) _ a>s3a

S 1L, 3. (of) P o o8 et a7 o6 e R s B 3 o
ST + dy?= 4 3 yRrede Rregell & el ¥ -

Find the asymoptotes of the following curve and show that they pass

- through the poinf of intersection of the curve with the ellipsex’+4y'=4: .
4K +y)- 17Xy - dx(dy'-x)+2(x"-2)=0. GTW/OR
() R 1 5% 1 Tl ST i, o7 ifa”+ b'=c”

3" 1
WﬁI\f(?ljﬂ—%@mﬁwﬁwﬁfﬁaﬁare aa‘sartra?rawréf?ﬁ r=4

g fo7g r=24T% T : Show that the length of the arc of the hyperbolic spiral rf
=atakenfromthe pomt1 =ator=2ais: -

{ﬁ\ﬁ“o W} . smW/orR
(4) femg? 6 « Show that : |
T i
L= Ie"zdx=? | |
TR V. S (\3% IR & T TERI - Changéthe 0lfder ofintegration :
2a [Zax) | |
[

2ax-x) - :
| )I?J (2x+y)dxdydzammnaavméa%wmﬁa 7=

4 - xﬁWﬁFﬁﬁﬂTx 0,y=0,y=2T z= Oﬁﬁ'{rg@ﬂgl
Evalnate I ” (2x +y) dx dy dz, where V is the closed region bounded by

the cylinlerz= 4-x andtheplanesx 0 y y=2and z=0,
L ], A @5 T gl THHLT aﬁ?zr%u—l/ré’rfmaﬁrmﬁs

m@ je)sm(i)?ﬂﬂ | B WWWW%W 'ﬁlﬁw

21t & (1f the polar-equation of the curveys r = f(0) and p = 1/r, then prove
that the curvature is equal to e) sin’y. Hence or otherwise

Vdxdy. "

provehat the curvature is given by _d_

YAy +z %mmﬁmﬁﬂmﬁwsﬁeﬁﬂaﬁaﬁﬁq

Fird the maximaand minimaof X’ +y’ +2 subject to the conditions :
+by’ +cz=1and Ix+my+nz=0.
3 ﬁp:{ Tqeh kI 3 %l ?rIQ Trace the following curve :

= 4
4 mbzlﬁﬁ'q(] ;;ryo)vc(: 1112)1/t)

w2 4o [F(1/4)]2

I\} acos 0+ bsin '0) 4(ab)” 2T
c[-:qr:{HT?ﬂW %1 ggdig Tt 7 FEcH A1 S BT |

‘Evaluate the fo Ilowm;: integral by changing to polar coordinates :

1 vV (2x-X
J' _[ V(X +y’)dx dy.
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